
重要製品
株式会社エンプラス

AREA, MEASURE THE PIN TIP HEIGHT FROM DEVICE SITTING POSITION

BOM 2,3,4,5,7 WITH ADDITIONAL HEX NUT TO HOLD THE PIN BLOCK-PAGE 3

FOR PIN BLOCK NUMBER QFN-16EPK-0.5-020-40 /5B-037-652-04 USE2) 

NOTES

1) 

ESP CONFIDENTIAL

 2-19 
 2

-
1
 ±

0.
1
 

 2
-
2
 ±

0.
1 

0
.5

 
±

0.
02

5
 0

.9
 

 0
.7

5
 

 
±

0.
02

5

 
±

0.
02

5
 1

.0
2
 

 1
.0

8
 ±

0.
02

5
 

PIN 1

 

 2-0.5 

 2
 ±

0.
1

 2
-
2
.5

 

 1
0
-
0
.5

 

 16-0.4 

 1 ±0.1

±0.1

±0.05

 

 

 

 0.25 

 0.16 

A A

Z0.08

Z

 1 MAX 

 0.05 
 
-
0
0.05 

SECTION A-A

 0.13MIN 

 0.13 

3 4

SECTION G-G

2

6

5

 

 3
.2

 

 (
(6

-
2
.5

))
 

D
E
V

IC
E
 S

IT
T
IN

G
 P

O
S

IT
IO

N
 3

.2
 ±

0.
05

 (
(4

-
1
.6

5
))

 

X

Y
 2.5 ±0.1 

 3
.5

 ±
0.

1
 

CL

0.05

A

A B

A B0.15

B

F

 2-29.4

 

 35.4 

 4
3
.7

 

1.51 

4
0
.5

±0.05

 2
-
3
7
.9

 

 1
6
.2

 

±0.01

 2
-
2
6
 

 4-R2 

 4-R2 

 

 

5

 5-24 

0
.5

4-

 7.5 

 8
.5

 ±
0.

05

 1
8
.8

 

 4-M2.5x0.45 THRU 

G
G

H

H
(D

E
V

IC
E
 S

IT
T
IN

G
 P

O
S
IT

IO
N

)

 PROBE PIN ACTUATION 
(S=10:1)

 3
.2

 

 0
.2

5
 (

P
C

B
-
F
R

E
E
 L

O
A

D
) 

 3
.3

5
 

 0
.1

5
 (

P
IN

 S
T
R

O
K

E
) 

 0.29 

 3
.6

 (
P

IN
 F

R
E
E
) 

 0.06 

 0.03 

 0.12 

IC SOCKET

65 7 8

A

B

C

D

F

MAT'L

A

B

品   名
CUSTOMER'S PART NO.

C

D

±０．３,　±2°
一般公差

E

F

REMARKS
個数

DWG.   NO.
符号

1 2 3 4

1 2 3 4 65 7

K

J

I

H

G

F

E

D

C

B

A

L

SHEETSSECTION

8

a
M.DUMPIT
L.VILLANUEVA

16 BQB

枚数部門

尺度　SCALE

REV.NO.

品名　NAME

備   考
Q'TY

図     番
SYM.

材質
NAME

顧    客    品    番

TOLERANCE

顧客品番　CUSTOMER'S PART NO.機種　USED FOR

2:1

3
15B-037-652-01

図　　　番

DRAWING

NO.

QFN-16EPK-0.5-020-00

2019/10/16

R.ROSA

DRAWN BY

ISSUED ON

DESIGNED BY

CHECKED BY

APPROVED BY
承認者

作成年月日

製図者

設計者

検図者

APP. SIGN
署名承認

REVISIONS

訂　正　箇　所

DATE

訂正年月日

E

GENERALESMO-TALOS

9 PAN HEAD SCREW M2.5X12L 55-113-018-01 PAN HEAD SCREW M2.5X12L SUS 4 SHIP WITH 
SOCKET

8 - 55-113-516-01 PEM NUT (KFS2-M2.5) SUS 4

7
PAN HEAD SCREW M1.4xL4 
#1 55-113-466-01 PAN HEAD SCREW M1.4xL4 #1 SUS 4

6 QFN-32PR-0.5-001-04 56-111-631-01 ALIGNMENT PIN SUS 2

5 QFN-3.65EPK-0.4-002-01 5A-119-068-01 PROBE
SK,PB,Be
Cu,SWP 16

TPC04 
WEDGE

4 QFN-3.65EPK-0.4-001-01 55-119-726-01 PROBE 
SK, PB, 
BeCu, 
SWP

18 TPC04

3 QFN-16EPK-0.5-020-03 5T-117-NEW-01 MODULE BOTTOM PEEK 1

2 QFN-16EPK-0.5-020-02 5T-117-NEW-01 MODULE TOP PEEK 1

1 QFN-16EPK-0.5-020-01 5T-117-NEW-01 TOP PLATE AL 1

SPECIFICATION

CONTACT RESISTANCE 100mΩ or less at 10mA (INITIAL)

DIELECTRIC WITHSTAND VOLTAGE  300 V.A.C. for 1 minute  

INSULATION RESISTANCE 1000MΩfor more at 500 V.D.C.

INSERTION 1,000,000 cycle (MECHANICAL)

OPERATING TEMPERATURE -50 C  + 150 C

DEFLECTION AMOUNT
 =0.4 0.05mm 

(PKG  =0.15mm,PCB  =0.25mm)

CONTACT FORCE
=0.4mm 248mN 50mN 

(25.3gf 5.1gf)

~

A2-A-ESPP

MATCHING DEVICE
SCALE 7:1

0.1 Z X Y

0.05 Z

M

M

7

8

CL

 11.3 

 2
-
3
.6

 

 8.5 

 (
(0

.5
))

 

 (2-22.6) 

 2
-
1
0
.8

5
 

 8-R1.6 

 2
-
1
.5

 

 5 

 (
3
-
9
.5

) 

 4-6.4 
 3.8 

 2.5 

 4
.2

5
 

 5 

 5
.2

5
 

 2
-
2
.5

  4-1.33 

 (2-8.8) 

 27.4 

1

CL

 6-2.5 

 4-1.65 

 (
(0

.5
))

 

 SECTION H-H 

C

 2
-
2
 

 5
.5

9
 

 1
1
.0

9
 

±
0.

1

±
0.

03
 4

-
2
.7

 ±
0.

05

   

 2
-
3
.5

 ±
0.

1
 

  DETAIL F  
SCALE 10 : 1

CL

 0
.8

 

 0
.5

x5
=
2
.5

 

 

±0.05

 

±
0.

05

 

 2.04 

±0.05

±
0.

05

±
0.

05

 0.5 
FIDUCIAL

0.25

 2.16  

 

 0
.5

 ±
0.

05

 

±0.05

 

 3
.0

4
 

 3
.1

6
 ±

0.
05

 



重要製品
株式会社エンプラス

 0.562 

 0.184 

 (
(0

.5
))

 

 0
.7

5
 

 1
.9

7
5
 

 0
.5

5
 

 (
(0

.5
))

 

 0
.7

5
 

 1
.0

7
 

 0
.1

6
 

ESP CONFIDENTIAL

DETAIL AY
SCALE 20 : 1

 0.35 

 0
.3

5
 

DETAIL AZ
SCALE 20 : 1

 0.35 

 0
.3

5
 

 0.622 

 0.127 

 R0.175 

SCALE 10 : 1
DETAIL AW

CL

PIN 1

 3.95 

 0
.5

 

 0.5 

 2
.5

 

 1.1 

 4
.9

5
 

 2
.1

 

 16-2.65 

 16-0.35 

SCALE 10 : 1
DETAIL AX

AZ

AY

CL

 2.14 

 0
.5

 

 0.5 

 2
.5

 

 3
.1

4
 

 0.32 

 1
.3

2
 

STANDOFF AREA
SAME HEIGHT WITH PCB PAD

1.65
COMPONENT AREA

2.5
COMPONENT AREA

AW

 35.4 

 4-29.4 ±0.05 

 5 ±0.02 

 13.8  5 

 3.8 
 2- 1.55 

+
 
0.07
0  

 3
-
9
.5

 

 2
2
 

 1
0
.8

5
 

 4
0
.5

 

 3
6
.5

 

 5 

 8.5 

 2-19 
 27.4 

 2
-
1
.5

 

 4
-1

.3
 

 2
-
2
.5

 

4- 3.5
NO TRACE /ROUTE

 4- 6.35 

 8-R1.6 

 2
-
2
6
 ±

0.
05

 

 2
-
3
7
.9

 ±
0.

05
 

 4- 3.175 

 (
(0

.5
))

 

STANDOFF AREA

1.65
COMPONENT AREA

2.5
COMPONENT AREA

AX

 3
-
9
.5

 

 2
2
 

 1
0
.8

5
 

 3
6
.5

 

 4
0
.5

 

 2
-
2
.5

 4- 3.5
NO TRACE / ROUTE

 4
-1

.3
 

 35.4 

 4-29.4 ±0.05 

 13.8  5 

 5 ±0.02 

 3.8  2- 1.55 
+
 
0.07
0  

 2
-
3
7
.9

 ±
0.

05
 

 2
-
2
6
 ±

0.
05

 

 4- 6.35 

 8-R1.6 

 5 

 8.5 

 2-19 
 27.4 

 2
-
1
.5

 

 4- 3.175 

 (
(0

.5
))

 

A2-A-ESPP

SAME HEIGHT WITH PCB PAD

CLEAR HOLE
C'BORE 4.394 - 1.78DP FARSIDE 4PL
6.35 DIA OD PAD BOTH SIDES
ADD TO FAB DWG:
INSTALL PEM KFS2-M2.5
PRIOR TO ASSEMBLY

CLEAR HOLE
C'BORE 4.394 - 1.78DP FARSIDE 4PL
6.35 DIA OD PAD BOTH SIDES
ADD TO FAB DWG:
INSTALL PEM KFS2-M2.5
PRIOR TO ASSEMBLY

IC SOCKET
L.VILLANUEVA

16 BQB

枚数部門

尺度　SCALE

REV.NO.

品名　NAME

備   考
REMARKS

個数
Q'TY

図     番
DWG.   NO.

符号
SYM.

材質
MAT'L

品   名
NAME

顧    客    品    番
CUSTOMER'S PART NO.

±０．３,　±2°
一般公差
GENERAL

TOLERANCE

顧客品番　CUSTOMER'S PART NO.機種　USED FOR

2:1

3
25B-037-652-01

図　　　番

DRAWING

NO.

QFN-16EPK-0.5-020-00

2019/10/16

R.ROSA

DRAWN BY

ISSUED ON

DESIGNED BY

CHECKED BY

APPROVED BY
承認者

作成年月日

製図者

設計者

検図者

APP. SIGN
署名承認

REVISIONS

訂　正　箇　所

DATE

訂正年月日

E

F

65 7 8

A

B

C

D

A

B

C

D

E

F

1 2 3 4

1 2 3 4 65 7

K

J

I

H

G

F

E

D

C

B

A

L

SHEETSSECTION

8

a
M.DUMPIT

ESMO-TALOS



重要製品
株式会社エンプラス

ESP CONFIDENTIAL

PIN BLOCK EXPLODED VIEW
SCALE =4:1

ADDITIONAL HEX NUT

2

3

4

7

5

PIN MAP DETAIL FROM BOTTOM VIEW
SCALE =40:1

PIN MAP DETAIL FROM TOP VIEW
SCALE =40:1

IC SOCKET
L.VILLANUEVA

16 BQB

枚数部門

尺度　SCALE

REV.NO.

品名　NAME

備   考
REMARKS

個数
Q'TY

図     番
DWG.   NO.

符号
SYM.

材質
MAT'L

品   名
NAME

顧    客    品    番
CUSTOMER'S PART NO.

±０．３,　±2°
一般公差
GENERAL

TOLERANCE

顧客品番　CUSTOMER'S PART NO.機種　USED FOR

2:1

3
35B-037-652-01

図　　　番

DRAWING

NO.

QFN-16EPK-0.5-020-00

2019/10/16

R.ROSA

DRAWN BY

ISSUED ON

DESIGNED BY

CHECKED BY

APPROVED BY
承認者

作成年月日

製図者

設計者

検図者

APP. SIGN
署名承認

REVISIONS

訂　正　箇　所

DATE

訂正年月日

E

F

65 7 8

A

B

C

D

A

B

C

D

E

F

1 2 3 4

1 2 3 4 65 7

K

J

I

H

G

F

E

D

C

B

A

L

SHEETSSECTION

8

aM.DUMPIT

ESMO-TALOS

A2-A-ESPP


